& 44 vERE o, 100 A AHe o]

@1 @ 3 @)+ @ 5 ® 6

1—73 = 0.538461538461 - -- = 0.538461 0| 22 £=Fhujr] o] 52}
67H

100 = 6 X 16 + 4°] B2 A5F ol 100 A 2} o] 2= 4
ojtt.




2.

(220y4)* = (xy?)* =

D 5 @ 6

x3

b =
AT, atb-c o e
y

B

a=1,b=8, c=2
ca+b—-c=7

Ok @ 8 ® 9
23 3.,3a b
o s o= BN 2 one




3. (2x2y3)2x\:|+4x2y3 = (3y?)3 oflA I:I Qbof] g2 A 27

9 9 y 27y3
@O 4xy @ 2x%y ® 3xy @ 3y @ 2

(2x2y3)2><|:|+ 4x2y% = (3y?)3
[ =3+ (26%%) x4xy®
— 97,8 Ax2y3
Ty° X 1y X 4x°y

_27y3
==




gt AollM x2 o AE a, xS AlE b 2L




(3a— 26)(2a + b) ©] AAHANA, ab o] A7

-3 @-1 @0

B

@ 1

(3a — 2b)(2a + b) °] H7H A A,
ab@ol e+ 3¢5 7o EH
3aXb—2bx2a= 3ab— 4ab = —ab
Laxy o Alg -1




6. x=1,y=-2¢% o, o3 A9 g Fotoft

xX—-y x+y+3

Xy Xy X




dee oo REE 109 ASAR B2 WA 452 it

Foltt. A, Bol Solrle 49| g8 Fololat,

21 7 7 7xA _175_0175
120 40 23x5  28x5xB 1000

=
H -

>
> HE: 50

B ~
21 7T 7 7% 52 175
120 40 25x5 25x5x52 1000
A, B9l E017t= &A= 242 520t}
~A+B=50

=0.175 1A




S}t
=

y et

=
=

o] gt

M~

e

sholat,

_?_

201

ul
RO

1= 0.198

—
(an)
a
I
L ~
— N o l_l
[ TH
EE R Sl Ko e




B ﬁ 2 228 JehW 052444 - D o], A% x o] g
atolat
> Ct

0.52444 - - = 0.524 = %
a2 x
900 900

ox =472




10.

L LERIEEE

42 e Bl [ ek

823025 5 x 2 oW
x = 3.02555 - -

[ 12=3025.555-
)[_Je= 302,555

r=2723
whebA x =[] elth

i

o

v VvV Vv VY Vvy
0
L

1000
HEFD 100
Heb T 900
2723
pul=d -
= 900

B

10002=3025.555""+
—-) 100z= 302,555
9002=2723

2723
/\ = O
Tt x = S0

1=




4x\"  64x®
11. <7> S Akt bc ol e

® 6 @ 7 @s @ ® 10

B

b b ,.ab 3,15
(L) oo o g

y ¥ y3¢
b=3,ab=159°]B& g =5 o|t},

b=3c°|B=Z ¢=1 o|t}.

La+b+c=5+3+1=9




12, 2772 427 =160 € W, x o] & Fotofet
=

>
[> o= 5

ok =

2¥+t2 4 9% — 5 x 2° = 160
2 =32 =2°
T x=5




13. 2" x3x5% 2 3 2o £U71

@ 8 @9 @10 @ 11 ® 12

228 x3x 585 =22x3x(2x5)® =12x 108
w2hA] 10 2He] o] 4ot




14. A=

2x—y B_x—|—3y+2
2 07 3
.y ol Wt Ao g LERH?

A, A-{24-3B-3(A-2B)} S x

@ x+2y+1 @ x+2y-1 @ x+4y-2
(@)x—4y—2 ® x-8y+2

(F4]) =A- (24 -3B-3A+6B)
A-(-A+3B)=2A-3B

A, B 9] g5 Higdstd
(F=A)=2x-y-(x+3y+2)=x—-4y—-2




A A2 9] 57} 3 9l

al

A

2 UEhE s

16

ul
KO

A

20

A2 AR 2pa] $71 30|22 0.30]4F 0.4 1]gHe] BZro|t},




16. % <04 < § o1 291 4 2 Fatolat,

[
H -

>
[> o= 5

oH =




17. S o3 A, Bol tisto] A«B=A-2B 2 2] 14} A = x> —4x+2
, B=x*43x-5 °f tisto] (A« B) + B & 7+2s| 5}H?

O -3x2-16x-22 (@)—3x2 —16x + 22
@ 2x%2 - 14x + 21 @ 2x2 - 15x+22

® 3x% + 14x + 22

B ,
(AxB)*B=(A-2B)-2B=A-4B°|E&

(x2 — 4x + 2) — 4(x® + 3x - 5)

=x%—4x+2-4x* - 12x+20

= —3x% — 16x + 22




1
x+-=1y+ - =120, 2+ — o F27
y Z

1 1 o w -1
x+—=1,Y+2—Z=1EXQ'ZEy°1]T&3}°“1€Eﬂ;,x:yT,
1
Z:
2(1-y)
1 _
z+ — °f thdstH
2x
1 1 y
2 5o =
2x 21-y)  20-1)
_ 1 y
21-y) 2(1-y)
2(1-y) 2




19.

F 24 ZFA4E x,y ofl thoke] f(x, y) = 3(0.x+0.y) —2(0.%xy + 0.yyx)
gl Zold o, £(1, 3) < f(x, y) < f(4, 2) & TEHotE &A%
(x, y) & A4E Fotoiet.

> g 7H

> " 12 A

(% Y\ (100x+10x +y 100y+10y+x>
f(x’y)_3(§+§) 2( 999 + 999

= 22 - 2(x+)




20. A no ot n! = 1x2x3x---xn &2 FOgtt}, o] uf,
nx 91 61 x 317} o] @ ZeiZo] AlFo] 57 9l 71
n °] & Fstofet,

nx9!'x6!x3!

=nX(IX8XTX6X5x4x3x2x1)
X(6x5x4x3x2x1)x(3x2x1)

=nx32x2xTx(2x3)x5x22x3x2x1
X(2x3)x5x22x3x2x1x3x2x1

=nx212x3"x52x7

m2hA Folxd o] of | 22 AlEol H7| fsfiM = &

A5 9] A7t A7t Hojok SRR 7H AF2 A he n 2

3x7=210°]|t}

n=21




